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(B)SHM3E 48 18 (BE)SH44E 3A3

=
18

EANA HEBIGEAN BHETHESELR
WEXRADB ENEENS

(Bfi:[)

#E 8 B LEERE MEERE B

1 SEINE 1,616,954 1,619,145 -2,191
2 SEINE 1,616,954 1,619,145 -2,191
3 — S &I 149,000 126,000 23,000
4 RIS = B I 76,000 70,000 6,000
5 FRISE IR 1,391,954 1,423,145 -31,191
6 FHE N 2,017,444 731,460 1,285,984
7 A 0 0 0
8 RERETMSINE 2,017,444 731,460 1,285,984
9 REREE MW 1,676,284 631,350 1,044,934
10 RERET MY RINE 341,160 100,110 241,050
11 RERBHSIE 77,486,299 80,671,453 -3,185,154
12 X ETH#E B & IR A 59,319,942 57,404,396 1,915,546
13 [EEHFHEBS IR 59,319,942 57,404,396 1,915,546
14 EERF R iRt 15,820,197 20,607,000 -4,786,803
15 i | KRR FF 4t 5 48 B & IR 2 15,820,197 20,607,000 -4,786,803
16 x| [RESRES SN 2,346,160 2,660,057 -313,897
17 — RS S E NI 2,306,160 2,620,057 -313,897
18 BARI=TITHE S DU 40,000 40,000 0
19 ZE U 28,780,408 26,613,609 2,166,799
20 TRERETH 2R E N 22,089,448 19,661,649 2,427,799
21 [EHFHZESINE 22,089,448 19,661,649 2,427,799
22 fEFFEHIRZEENE 6,690,960 6,951,960 -261,000
23 g 265,330 314,270 -48,940
24| EEEES 265,330 314,270 -48,940
25| | SRS NG 0 0 0
26| £ NERIEE LN 0 0 0
21 2 BERILY—E AZEZINE 0 0 0
28 g Z D OB EINEE 0 0 0
29| Z DD U 0 0 0
30| iR H—E REBIRE () 110,166,435 109,949,937 216,498
31 ZJ N 81,902,410 77,886,058 4,016,352
32| =B % B EREN 1,241,400 1,201,050 40,350
33 A= FeE ] 48,932,216 46,375,257 2,556,959
34 B 4G 40,646,400 36,347,722 4,298,678
35 BEETS 8,285,816 10,027,535 -1,741,719
36 BEES 9,796,061 8,689,212 1,106,849
37 E5S|ILEEA 4,972,109 4,401,509 570,600
38 EEHBEHRE 2,413,745 3,199,688 -785,943
39 BRI ER 4,613,560 4,921,761 -308,201
40 EEEME 9,933,319 9,097,581 835,738
41 BXE 19,377,722 22,758,876 -3,381,154
42 | |FEHs 196,000 170,000 26,000
43 WREXEE 2,180 960 1,220
44 R [EE%RE 2,180 960 1220
45 HERE RRE 1,921,588 2,988,863 -1,067,275
46 e 301,461 1,366,407 -1,064,946
47 HlE 300,742 302,885 -2,143
48 BERIA L E 0 120,000 -120,000
49 HREESEER 300,742 182,885 117,857
50 1EHEE 54,450 46,160 8,290
51 BIEERE 759,573 837,239 -77,666
52 F= ] 4,150 40,380 -36,230
53 [LERE 572,000 572,000 0
54 XBERAE 12,200,874 11,789,537 411,337
55 F 1,542,694 2,104,430 -561,736
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#wxE ® B LEERE BIEERE # R
56 REEF 360,973 172,202 188,771
57 EEREN 238,973 43,702 195,271
58 RS T4 7 REH 122,000 128,500 -6,500
59 Biaw 337,335 696,162 -358,827
60 HAHAER 823,702 704,033 119,669
61 RsFH 0 0 0
62 M 0 967,618 -967,618
63 EHE 1,505,632 1,771,479 -265,847
64 EHNELE 217,355 225,848 -8,493
65 BB R E 0 0 0
66 ELikd 20,600 20,600 0
67 WREXEE 8,850 29,600 -20,750
68 THEM R E 30,000 21,000 9,000
69 ERERERE 12,120 17,982 -5,862
70 FIRIEAE 0 1,924 -1,924
71 HlE 73,954 120,000 -46,046
72 BERIA L E 73,954 15,421 58,533
73| Y HREESER 0 104,579 2104579
74 é EiEE 3,000 22,022 -19,022
Bl 2z |&| |BEERE 30,793 12,350 18,443
76| & =B 0 0 0
77| B |H| EwE 0 0 0
78 i%' FHn 165,520 169,240 -3,720
9| o RIRH 399,097 664,968 ~265,871
80( B EfaH 20,159 7,124 13,035
81 AHRNE 8,328 7,721 607
82 RFH 148,500 148,500 0
83 S5 & 35,000 5,000 30,000
84 HeE 298,000 296,000 2,000
85 e 34,356 1,600 32,756
86 NEEER 0 0 0
87 iylods g =dat 6,947,631 7,276,800 -329,169
88 [Bnp & & A 6,947,631 7,276,800 -329,169
89 GiESEA 0 0 0
90 HEHEAZE 0 0 0
91 BB E 1,153,248 836,375 316,873
92 EERBSFSREL SRS 0 0 0
93 BN RERE 0 0 0
94 BIRFEES I LR A 0 0 0
95 ZTDMDEH 0 0 0
96 H—EREBE ) 110,886,643 110,529,588 357,055
97 H—E REBIERHESE (3=1-2) -720,208 -579,651 -140,557
98 & A2 5| BB E IS 0 0 0
99 4|j' ZERH 2B S SIS 2,343 2,150 193
100( ¢ i ZDHDH—E REH SN 229,420 222,831 6,589
101] A || |RABHEE NG 154,000 184,000 -30,000
102 g AR 75,420 38,831 36,589
103[ gy H—ERFESMREEET4) 231,763 224,981 6,782
104| 18 |z |XHILFIS 0 0 0
105 0) ZOtDY—E REBNER 0 0 0
106 47 | H—EREBNEREG) 0 0 0
107 Y —E REB S SR E 58(6=4-5) 231,763 224,981 6,782
108 | #2518 i = %8 (7=3+6) -488,445 -354,670 -133,775
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& F # B LEERE AIEERE R
109 MR E MBI 0 0 0
110 [ S RS IR 0 0 0
111 MR B RS R M-S 0 0 0
112 [ElE & E 255 0 180,000 -180,000
113 R ExaEsms 0 0 0
114 7% (MR RS ERA NG 1,659,321 1,452,048 207,273
115 B2 X 73 Pl B 7 EE RS B AR 0 0 0
116 Z D 1th O $5 Al IR ZE 135,690 0 135,690
117 | 20 fth o0 5 B U 35 135,690 0 135,690
118 4RI UR A EH(8) 1,795,011 1,632,048 162,963
19| 4% EXEMBALE 0 0 0
120 A\ EEEREE 0 0 0
| # | [ExaExam-nsR 0 3 =
122 @ BHEEREFTIE - L8 0 1 -1
123| & BERVERENE - NHE 0 2 -2
124 EE#HDEF S RE L SN BRAE) 0 0 0
125 f EennssniRienoE 0 0 0
126 mXEEX 0 0 0
127 WERNEEALER 0 0 0
128 RURENHEEEEREER 0 0 0
129 ZDMDFRIE R 1,127,780 0 1,127,780
130 BEFEEIEESBESER 0 0 0
131 ZDMDFRIE K 1,127,780 0 1,127,780
132 455l & FEH9) 1,127,780 3 1,127,777
133 4RI KSR =48 (10=8-9) 667,231 1,632,045 -964,814
134 & B FE B B = 2E(11=7+10) 178,786 1,277,375 -1,098,589
135 ‘f‘v‘; AR E B IR = 5E(12) 22,668,840 21,391,465 1,277,375
136 % LHARERERIEREL(13=11+12) 22,847,626 22,668,840 178,786
137 i% EAEHERZE(14) 0 0 0
138| o |[BEERAAEE(15) 0 0 0
139] & |ZDMOTEISIRFHEE16) 0 0 0
140 fDE OO ST 0 0 0
141 3 | REEHEBNIEREE(18=13+14+15+16-17) 22,847,626 22,668,840 178,786
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